EH(TQ 1%‘?
--16 —--<
3 = ~5D
10
\
B .
’ \ )
GVF
\
E
@D 6 @ 8 @10 @ 12

® 14

ABEF 0 ACDF ©| 2.2 CF = x 2 514
BE:CD =BF:CF
6:10=(16-x) : x

wx=10




AD = 6cm, BC = 8cm, =907} 4cm €1 AchE]l& ABCD 4] AD,
BC,BD 9 4L 47 G, F, Egt & W], AEFG 9] Ho|& F51H?

%@

[ — L
DE = §BD°]_TL, BD ¢} GF 9 282 H 2

ot
=,
i

ADGH ABFH | ©&H|=3:. 40|22
D = gﬁ,ﬁ:ﬁ_ﬁ: ﬁmomg

— 1 3

EH:DH= —:=-=1:
14 7 0

1 1 1 1
EGH = —ADGE = - x —AABD = —AABD
AEG 7AG 7><4A 28A

u}x7}1A] 9 0 2 ARFH — %ADBC
wferA
1
FG = —oOA
AEFG 28D BCD

22_18X{%X(6+8)X4} =1 o]t}




thS 293 2ol AABC O BAFAS Gt & o, AG, GDE A&
© 2 ot & 9] Wolo] HlE FotH?

>

X,
ofy
o
d
fru
3
)
()]
o
|
[\)
o
I




AtttE]E ABCDOlA H G, E, F=

A 8,cm’(:\\
zr AD BD BC—J = ot} AEGF 9} /
DABCD ©] gol 9] ul& vt= ) 78 222 !
E 1OCIII]
D \1
~ F I:I//
~1l4cm- -

@ 7:42 @ 8:43 @ 8:44 @3:44 ® 8:45

~&B

DABFG = 4) x 10 x % =55 (cm?)

(7+
3
DABEG = £ x X8x10 =30 (cm?)

l\:)l»—l

1 1 35
AEBFE = ZX§X14X10:E (sz)
AEGF = 55 — (30 =F 325) 15
1
OABCD = (14 + 8) x 10 X 5 110 (cm?)

. AEGF : 0ABCD = 125 110

=15:220=3:44




MZ g = 9715 A, BoA 9715
A 9] 27t 27 em? 4 W, 975 B ‘

o] Bulg Foh? N
1
® 2437 cm?® ®@ 2837 cm?® I

® 3237cm? @34377 cm?
® 363rcm?®

B ~
(FeH)=12:28=3:7

(Fo o] H]) =3%: 73 =27:343

27 :343 = 27 : (Y715 BE| 1)

- (971% B9 #3]) = 343n(cm®)




